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1.Which angle in the figure at right is thefangle of incidence
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2.Iffigure at right above shows the path of light traveling from one substance into another,
and the two substances are air and glass, which

’ ide is the glass? Explain your answer.
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3.In the new figure at right, what is the index of refraction (n)for light going from air into Substance X?
What's the speed of light in Substance x?
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: nai’r’enters a flat plate of glass (n;1 .50) atan angle of 37° with the glass's surface.
is the direction of the beam inside the glass?( . refr) 9, =53
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e surface of a lake shines a bright searchlight up at an angle oféS" measured with respect to the normal. At what angle
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glassI with ngjass=1.5, toa_ilr_with an angle of incidence of 41.8103149°. Determine the angle of refraction for the ray
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55 to air at an angle of incidence of 55°. Determine the angle of refraction in air.
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8.Aspotlight on a boat is 2.5 m above the watér and the light strikes the water's

surface ata point 8 m behind the boat. The depth of the water is 4 m.

If nwater="1.37, how far from the back of the boat (measured horizontally) does
the light hit the bottom?
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